# **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 6 - Paisley Southeast
Valid Votes	4,597
Positions to be Filled	3
Quota	1,150

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Eddie DEVINE	Scottish Labour Party	1,009
Sheila FULTON	Scottish Conservative and Unionist	695
Paul MACK	Independent	648
Marie MCGURK	Scottish National Party (SNP)	1,047
Emma Louise MCSHANE	Scottish Green Party	156
John MILLER	Scottish Socialist Party	14
Ben SMITH	Scottish Labour Party	250
Janette SWANSON	Scottish National Party (SNP)	664
Michael Thomas WILSON	Scottish Liberal Democrats	114
	Total	4,597

## **Transfers Report**

This report contains the transfers results.

### Stage 2 - Exclusion of John MILLER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie DEVINE	0	0.00000	0.00000
Transfer to Sheila FULTON	0	0.00000	0.00000
Transfer to Paul MACK	1	1.00000	1.00000
Transfer to Marie MCGURK	6	1.00000	6.00000
Transfer to Emma Louise MCSHANE	1	1.00000	1.00000
Transfer to Ben SMITH	0	0.00000	0.00000
Transfer to Janette SWANSON	3	1.00000	3.00000
Transfer to Michael Thomas WILSON	1	1.00000	1.00000
Value of non-transferable ballot papers			2.00000
	Total		14.00000

## **Transfers Report**

This report contains the transfers results.

### Stage 3 - Exclusion of Michael Thomas WILSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie DEVINE	13	1.00000	13.00000
Transfer to Sheila FULTON	22	1.00000	22.00000
Transfer to Paul MACK	17	1.00000	17.00000
Transfer to Marie MCGURK	6	1.00000	6.00000
Transfer to Emma Louise MCSHANE	14	1.00000	14.00000
Transfer to John MILLER	0	0.00000	0.00000
Transfer to Ben SMITH	23	1.00000	23.00000
Transfer to Janette SWANSON	4	1.00000	4.00000
Value of non-transferable ballot papers			16.00000
	Total		115.00000

## **Transfers Report**

This report contains the transfers results.

### Stage 4 - Exclusion of Emma Louise MCSHANE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie DEVINE	17	1.00000	17.00000
Transfer to Sheila FULTON	11	1.00000	11.00000
Transfer to Paul MACK	21	1.00000	21.00000
Transfer to Marie MCGURK	42	1.00000	42.00000
Transfer to John MILLER	0	0.00000	0.00000
Transfer to Ben SMITH	23	1.00000	23.00000
Transfer to Janette SWANSON	37	1.00000	37.00000
Transfer to Michael Thomas WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			20.00000
	Total		171.00000

## **Transfers Report**

This report contains the transfers results.

### Stage 5 - Exclusion of Ben SMITH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie DEVINE	159	1.00000	159.00000
Transfer to Sheila FULTON	23	1.00000	23.00000
Transfer to Paul MACK	43	1.00000	43.00000
Transfer to Marie MCGURK	11	1.00000	11.00000
Transfer to Emma Louise MCSHANE	0	0.00000	0.00000
Transfer to John MILLER	0	0.00000	0.00000
Transfer to Janette SWANSON	12	1.00000	12.00000
Transfer to Michael Thomas WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			48.00000
	Total		296.00000

## **Transfers Report**

This report contains the transfers results.

### Stage 6 - Surplus of Eddie DEVINE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie DEVINE	0	0.00000	0.00000
Transfer to Sheila FULTON	192	0.04006	7.69152
Transfer to Paul MACK	213	0.04006	8.53278
Transfer to Marie MCGURK	144	0.04006	5.76864
Transfer to Emma Louise MCSHANE	0	0.00000	0.00000
Transfer to John MILLER	0	0.00000	0.00000
Transfer to Ben SMITH	0	0.00000	0.00000
Transfer to Janette SWANSON	49	0.04006	1.96294
Transfer to Michael Thomas WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			24.04412
	Total		48.00000

## **Transfers Report**

This report contains the transfers results.

### Stage 7 - Exclusion of Janette SWANSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie DEVINE	0	0.00000	0.00000
Transfer to Sheila FULTON	7	1.00000	7.00000
Transfer to Paul MACK	4	0.04006	0.16024
Transfer to Paul MACK	27	1.00000	27.00000
Transfer to Marie MCGURK	23	0.04006	0.92138
Transfer to Marie MCGURK	630	1.00000	630.00000
Transfer to Emma Louise MCSHANE	0	0.00000	0.00000
Transfer to John MILLER	0	0.00000	0.00000
Transfer to Ben SMITH	0	0.00000	0.00000
Transfer to Michael Thomas WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			56.88132

Total

721.96294

## **Transfers Report**

This report contains the transfers results.

### Stage 8 - Surplus of Marie MCGURK

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie DEVINE	0	0.00000	0.00000
Transfer to Sheila FULTON	7	0.01371	0.09597
Transfer to Sheila FULTON	77	0.34236	26.36172
Transfer to Paul MACK	27	0.01371	0.37017
Transfer to Paul MACK	539	0.34236	184.53204
Transfer to Marie MCGURK	0	0.00000	0.00000
Transfer to Emma Louise MCSHANE	0	0.00000	0.00000
Transfer to John MILLER	0	0.00000	0.00000
Transfer to Ben SMITH	0	0.00000	0.00000
Transfer to Janette SWANSON	0	0.00000	0.00000
Transfer to Michael Thomas WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			387.33012

Total

598.69002

## **Transfers Report**

This report contains the transfers results.

### Stage 9 - Exclusion of Sheila FULTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Eddie DEVINE	0	0.00000	0.00000
Transfer to Paul MACK	3	0.01371	0.04113
Transfer to Paul MACK	53	0.04006	2.12318
Transfer to Paul MACK	41	0.34236	14.03676
Transfer to Paul MACK	282	1.00000	282.00000
Transfer to Marie MCGURK	0	0.00000	0.00000
Transfer to Emma Louise MCSHANE	0	0.00000	0.00000
Transfer to John MILLER	0	0.00000	0.00000
Transfer to Ben SMITH	0	0.00000	0.00000
Transfer to Janette SWANSON	0	0.00000	0.00000
Transfer to Michael Thomas WILSON	0	0.00000	0.00000
Value of non-transferable ballot papers			493.94814

Total

792.14921